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Instruction :

PART -1

Answer any three.

1.  How is the market structure measured by using various dimensions of it ?

e A

Critically evaluate Industrial Policy 1991 of in India.

Critically evaluate social security measures in India.

Explain various external & internal sources of finance.

PART - 11

9.  Answer in short : (any four)

(1
(2)
3)
4
()
(6)
(7)
(8)
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What do you mean by market structure ?

Give the meaning of Industrial Location.

What do you mean by Licencing Policy ?

Give the meaning of Liberalisation.

Differentiate between Private & Social Insurance.
What do you mean by Industrial Finance ?

Write any two functions of Commercial Banks.

Give the meaning of Social Security.
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Write the no. of the question as per the question paper.

What are the various factors influencing the location of industries ?

“Privatisation as a measure to solve problems of PSUs.” Discuss.

Explain in detail reasons responsible for Industrial Disputes in India.

How do various risks of Finance arise ? What are the methods of avoiding these risks ?
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